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Complete the sentence ... “Mathsis ....

ANSWER CODE

A 484 12+9

B 9924 47 + 128

C 60

D 4 89 -45

E 32 573 -89

F 44 One million in numbers
G 96 8x23

H 1 000 12 x 15

I 2171 Degrees in a full turn
J 6 167 x 13

K 9024 450+ 5

L 16 128 + 4

M 21

N 10 000 102

@) 184 720+4

P 8 10, 000 - 76

Q 41 Y of 24

R 360 2°

S 100 50% of 120

T 90 Degrees in a right angle
U 180

Vv 1 000 000
W 1 220+5

X 20 112x 4

Y 175 75% of 80

Z 30 2x5x3x3
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“Maths is ....
ANSWER CODE
A 484 12+9 21 M
B 9924 47 + 128 175 Y
C 60
D 4 89 - 45 44 F
E 32 573 -89 484 A
F 44 One million in numbers 1 000 000 \Y;
G 96 8x23 184 0]
H 1 000 12 x 15 180 U
I 2171 Degrees in a full turn 360 R
J 6 167 x 13 2171 I
K 9024 450 =5 90 T
L 16 128 + 4 32 E
M 21
N 10 000 102 100 S
@) 184 720 +4 180 U
P 8 10, 000 - 76 9924 B
Q 41 Y of 24 6 J
R 360 2° 32 E
S 100 50% of 120 60 C
T 90 Degrees in a right angle 90 T
U 180
Vv 1 000 000
W 1 220 =5 44 F
X 20 11°x 4 484 A
Y 175 75% of 80 60 C
YA 30 2x5x3x3 90 T
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